Calculus I, Fall 2021 (Thomas’ Calculus Early Transcendentals 13ed), http://www.math.nthu.edu.tw/~ wangwc/

Brief solutions to selected problems in homework week 02 and week 03

Figure 1: Section 2.3, problem 43: mistake 1
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Figure 2: Section 2.3, problem 43: mistake 2



Figure 3: Section 2.3, problem 43: mistake 3
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Figure 4: Section 2.3, problem 43: mistake 4



2], I‘(ﬂ?""‘ﬁ/}(]rt c\l«d ‘;léll:\:_%m):M

X C

\:W "\"‘1 L>0 ‘fL.elx_ exigts 5,70 and 5170 , yuoh ‘(L*"I‘

vele-cf<fp o lho-L

%
be (xoelef, 3 (qw-Ml<g
6

c—;{% -4l <5t

,I;i<—),fruc)+;[«/] <le

‘faLe é:m:n(élpéi>

Delx-cled o -4 < 4{({)-)3(%) ~t4trt e

D 4f0 39000 = (aLamy | < ¢

= )J(l_"f: (4ﬁ/|<)_>ﬁu<)> = 4L~>/\7

Figure 5: Answer to homework week 03, problem 2



